
 

Surds
Rationalising Denominators

J2 1.414
Example1 4 53 I 1.732T2

Yz Ez I 42k 252

Ex2
5g I f 553

F 3
2,4 2,4 Fff 2457 357

F 4
ft If lost 255

Exercise Simplify
8

1 Tz zxfIz 8 at

2 18
j xT 853 65353



3 11
Ts s t Is

4 14
j In FIT 1445 257

5 If If if 20,5 1057

Reminder Difference of Two Squares

at ska s

a tab as b

j al b a b Ca s

Surds Again

F t II SIE IE's
15 552 15 512
32 E 9 2

15 552
7



F 2

I s
e 4 71 III

351 753
25 3

35 t 753
22

Exercise

D 4 4
4 5

4 E
4 53 ft t

16 453
42 Tze

16 453
16 3

16 453
13

Ers E Is's

15 t 555
9 5
15 t 5 IF
4



Example 3

3 52
4 E

3 52
att

4 E
4 52

12 452 352 Z

42 JT

10 t.TL 10 52
16 Z 14

Ex 4
I 53 1 53

4 Tz x
att

4 53 4th

4 t 453 53 3

4 JJ

7 553 7 t 553
16 3 13

Exercise



1 2 55
3 je

2 55
3 t

x
Ttt
3 55

G t 355 t 255 t 5

32 552
11 t 555 11 555
9 5 4

2 6 53
2 try

G Tz
Ziggy

x Z Tz
2 IT

12 253 653 t 3

22 JJ

15 853
15 853

A 3


